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— i = Bal= —fig B4 BalE — i HHE B5l=
JEIERIREOE—LA | 2260 1,810 450 6,780 5,420 1,360 13,560 10,850 2,710
EBREREOE A | 1850 1,480 370 5,550 4,440 1,110 11,100 8,880 2,220
EEREREOE 1,850 1,480 370 5,550 4,440 1,110 11,100 8,880 2,220
EBREREROE= 1,440 1,150 290 4,320 3,460 860 8,640 6,910 1,730
Jb 76 RERFE O 2,160 1,730 430 5,860 4,690 1,170 - - -
e _EERIE O 1B 2,770 2,220 550 8,020 6,420 1,600 15,420 12,340 3,080
BRI O 2FE 2,570 2,060 510 7,400 5,920 1,480 14,190 11,350 2,840
e EEREEO 2,770 2,220 550 8,020 6,420 1,600 15420 | 12,340 13,080
78 B ERTE O Hh R 2,570 2,060 510 7,710 6,170 1,540 15,420 12,340 3,080
TBEERFEO 1R 2,570 2,060 510 7,710 6,170 1,540 15,420 12,340 3,080
TBEERFE D 25 2,360 1,890 470 7,080 5,660 1,420 14,160 11,330 2,830
TBEEREO 1/ 2,880 2,300 580 8,640 6,910 1,730 17,280 13,820 3,460
JRBEREO2M 2,570 2,060 510 7,710 6,170 1,540 15,420 12,340 3,080
BEERE O3/ 2,260 1,810 450 6,780 5,420 1,360 | 13,560 10,850 2,710
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dBBEREOE—IA - - — -~ - - - — —
dEBEEREOE /A - - - - — - — — -
FEBEREOEZ 3,080 2,460 620 9,240 7,390 1,850 18,480 14,780 3,700
EEEREOE= 2,460 1,970 490 7,380 5,900 1,480 14,760 11,810 2,950
JbiREERF O 3,240 2,590 650 8,840 7,070 1,770 — - -
e EERIE O 1B 4,320 3,460 860 12,650 10,120 2,530 24,680 19,740 4,940
We b ERAL OO 2% - - — — - — — _ _
e EEREE O 4,320 3,460 860 12,650 10,120 2,530 24,680 19,740 4,940
78 BLERFE O bR 4,110 3,290 820 12,330 9,860 2,470 24,660 19,730 4,930
JRERERFE 11 - _— — - — — — — —
TBEERFE O 20 - - — — — - - — _
TREERED 1M 4,320 3,460 860 12,960 10,370 2,590 25,920 20,740 5,180
TBREREO 20 - - - — — - - — _
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